Decimals

Introduction

Savita and Shama were going to market to buy some stationary items.
Savita said, “I have 5 rupees and 75 paise’. Shama said, “| have 7 rupees
and 50 paise”.

They knew how to write rupees and paise using decimals.

So Savita said, | have Rs 5.75 and Shama said,
“I have Rs 7.50".

Have they written correctly?

We know that the dot represents a decimal point.

In this chapter, we will learn more about working
with decimals.

8.2 Tenths

Ravi and Raju measured the lengths of their pencils. Ravi's pencil was
7 cm 5mm long and Raju’s pencil was 8 cm 3 mm long. Can you express
these lengths in centimetre using decimals?

We know that 10 mm=1cm

1
Therefore, 1mm= 0 cm or one-tenthcm = 0.1 cm

Now, length of Ravi’s pencil= 7cm 5mm
5 .
= 75 cmi.e. 7cm and 5 tenths of acm
=7.5cm
The length of Raju’'s pencil =8 cm 3 mm

= 8% cm i.e. 8 cm and 3 tenths of acm

=8.3cm



Let usrecall what we have learnt earlier.

If we show units by blocks then one unit is
one block, two units are two blocks and so
on. One block divided into 10 equal parts

—

1
means each part is 10 (one-tenth) of a unit, 2 parts show 2 tenths and 5

parts show 5 tenths and so on. A combination of 2 blocks and 3 parts
(tenths) will be recorded as :

Ones | Tenths
1
D | Gy
2 3

—

It can be written as 2.3 and read as two point three.
Let us look at another example where we have more than ‘ones’. Each
tower represents 10 units. So, the number shown hereis:

5
i.e.20+3+ — =235

10

Thisisread as ‘twenty three point five'.
Try These Q)

Tens Ones Tenths
1
(10) @ | (3
2 3 5
\ i L\ i [ e ey
1. Canyou now write the following as decimals?
Hundreds | Tens Ones Tenths
1
(100) (10) D (ﬁ
5 3 8 1
2 7 3 4
3 5 4 6

2. Writethelength of Ravi’sand Rgju’'spencil in‘cm’ using decimals.
3. Make three more examples similar to the one given in question 1 and

solve them.
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Representing Decimals on number line

We represented fractions on a number line. Let us now represent decimals
too on anumber line. Let us represent 0.6 on a number line.

We know that 0.6 is more than zero but less than one. There are 6 tenthsin
it. Divide the unit length between 0 and 1 into 10 equal parts and take 6 parts
as shown below :

0 0.6 1 12 2 3
Write five numbers between 0 and 1 and show them on the number line.
Can you now represent 2.3 on a number line? Check, how many ones and

tenthsaretherein 2.3. Where will it lie on the number line?
Show 1.4 on the number line.

Example 1 : Write the following numbers in the place value table : (a) 20.5
(b) 4.2

Solution : Let usmake acommon place val uetabl e, assigning appropriate place
valuetothedigitsinthe given numbers. We have,

Tens(10) | Ones(l) | Tenths (%)

20.5 2 0 5
4.2 0 4 2

Example 2 : Write each of the following as decimals : (a) Two ones and
five-tenths (b) Thirty and one-tenth

. . 5
Solution : (a) Two onesand five-tenths=2 + 0 25

1
(b) Thirty and one-tenth =30 + 0° 30.1
Example 3 : Write each of thefollowing asdecimals:

2 8
(30+6+ - (b)600+2+

2
Solution : (a) 30+ 6 + 0

How many tens, ones and tenths are therein this number?We have
3tens, 6 onesand 2 tenths.
Therefore, the decimal representation is 36.2.

8
(b) 600+2+ -

Notethat it has 6 hundreds, no tens, 2 ones and 8 tenths.
Therefore, the decimal representation is 602.8
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Fractions as decimals
We have aready seen how afraction with denominator 10 can be represented
using decimals.

Let us now try to find decimal representation of (a) (b)

1_22 _20+2 _20 2

(a)Weknowthat— -1 "1t

2
=2+ =22

22
Therefore, 0 - 2.2 (in decimal notation.)

(b) In =, the denominator is 2. For writing in decimal notation, the

Tl’y These Q denominator should be 10. We aready know

34 8 how to make an equivalent fraction. So,
Write =, ¢ S in decimal Ix5 5

2’5 e N
notation. 2 T 2x5 10 0.5

1
Therefore, > i1S0.5 in decimal notation.

Decimals as fractions

Till now we have learnt how to write fractions with denominators 10, 2 or 5 as
decimals. Can we write adecima number like 1.2 as afraction?

L et o=y 2 10,2 12
us see - 10 10 10 10

EXERCISE 8.1

1. Writethefollowing asnumbersinthegiventable.

@ E % (b)
O == —

Ones Tenths Hundreds Tens  Tenths
Hundreds Tens Ones Tenths
1
(100) (10) D (ﬁ
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2. Writethefollowing decimalsintheplaceva uetable.
(@ 194 (b) 0.3 (c) 10.6  (d) 205.9

3. Writeeach of thefollowing asdecimals:
(@ Seven-tenths (b) Twotensand nine-tenths
(c) Fourteenpoint Six (d) Onehundred and two ones
(e) Sixhundred point eight

10. (8 Thelength of Ramesh’snotebook is9 cm 5 mm. What will beitslengthincm?
(b) Thelength of ayoung gram plantis65 mm. Expressitslengthincm.

E 4. Writeeach of thefollowing asdecimals:

E (a)i (b)3+l (@] 2OO+6O+5+L (d) 7O+i (e 88

= 10 10 10 10 10

= m4s @2 M 0= 0 04

= 10 2 5 5 5 2

= 5. Writethefollowing decimal sasfractions. Reducethefractionsto lowest form.

§ @06 ®25 ()10 (38 (9137 (f) 212 (9 64
= 6. Expressthefollowingascmusingdecimals.

; @ 2mm (b) 30mm (¢) 116mm (d 4cm2mm  (¢) 162mm
= (f) 83mm

g 7. Between which two whole numberson the number line arethe given numberslie?
= Which of thesewhole numbersisnearer the number?

= -
= o 1 2 3 4 5 6 7 8 9 10 11 12
= @ 08 (b 51 (o) 26 (d) 6.4 e 9.1 ) 4.9

E 8. Show thefollowing numberson the number line.

= @02 (b 19 (011 (d) 25

= 9. Write the decimal number represented by the pointsA, B, C, D on the given
= number line.

= 0 A | B 2 C D3

8.3 Hundredths

David was measuring thelength of hisroom.
He found that the length of hisroomis4 m
and 25 cm.

Hewanted to write the length in metres.

Can you help him? What part of ametre will
o 3%\, be one centimetre?
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1
lcm= (@) m or one-hundredth of ametre.

. 25
Thismeans25cm = 100 m

1
Now (ﬁ) means 1 part out of 100 parts of awhole. Aswe have donefor

1 . .
0 let ustry to show thispictorially.

Takeasguareand divideit into ten equal parts.
What part isthe shaded rectangle of thissquare?

.1 o
It IS5 O one-tenth or 0.1, see Fig (i).

Now divide each such rectangleinto ten equal parts.
We get 100 small squares as shown in Fig (ii).

Fig (i) Then what fraction is each small square of the whole
square?

1
Each small sguare is (@) or one-hundredth of the

1
whole sguare. In decimal notation, we write (——) = 0.01

100
and read it as zero point zero one.
What part of the whole square isthe shaded portion, if
Fig (i) we shade 8 squares, 15 squares, 50 squares, 92 squares of
thewhole square?

Takethehelp of following figuresto answer.

Shaded portions | Ordinaryfraction Decimal number

8
8squares 100 0.08
15 1 0.15
squares 100 :
50 squares

ST R Coo
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Let uslook at some more place valuetables.

10 100

Example5: Fill theblank in the table and write the corresponding number in
decimal form using ‘block’ information given below.

1 1
Ones (1) Tenths (75 Hundredths (1 5 0)
2 4 3
= . . 4 3 . L
E The number shown in the table above is 2 + 70 100" In decimals, it is
- written as 2.43, which is read as ‘two point four three'.
% Example4: Fill theblanksinthetableusing ‘block’ information given below
= and write the corresponding number in decimal form.
é A [ (=
= H =
= L e 1
= n/in/in —
= ufinfis D —
= 7 O = — -
E 1 hundred blocks 3 ten blocks 2 unit blocks 1 tenth blocks 5 hundredth blocks
E Solution :
= Hundreds Tens Ones Tenths Hundredths
= 100 10 1 - (L)
S (100 | (10 @) (75 00
= 1 3 2 1 5
= | R
= Thenumberis100+30+2+ — + — =132.15

Ones | Tenths | Hundredths

1
@ | oo




Solution : Ones | Tenths| Hundredths
1 1 _
1 (ﬁ (1 00) Therefore, the number is 1.42.
1 4 2

Example6: Giventhe place valuetable, writethe number in decimal form.

Hundreds Tens Ones Tenths Hundredths
100 10 1 L (L)
(100) | (10 D) (1o 00
2 4 3 2 s

DEcCIMALS

1 1
Solution : The number is 2><1OO+4><10+3><1+2><E +5x (ﬁ)

2 5
—200+4O+3+E +ﬁ =243.25

The first digit 2 is multiplied by 100; the

We can seethat aswego from

: - : 1
left to right, at every step the nextdigit4ismultiplied by 10i.e. (E of 100);

o the next digit 3is multiplied by 1. After this,
multiplying factor becomes

. ! .
the next multipling factor is —; and thenitis

1 ;
0 of the previous factor. : 10

OfE'

. 1

100 & (g

The decimal point comes between ones place and tenths place in a
decimal number.

Itisnow natural to extend the place value tablefurther, from hundredthsto
% of hundredthsi.e. thousandths.

L et us solve some exampl es.

4 3 7
Example7 : Writeasdecimals. (a) 3 (b) 2 () 1000

4 .
Solution : (a) We haveto find afraction equivalent to — whose denominator

5
is 10.
4 4%x2 8
5 5%2 10 =08
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3
(b) Here, we haveto find afraction equivalent to 2 with denominator 10 or

100. Thereisno whole number that gives 10 on multiplying by 4, therefore,
we make the demominator 100 and we have,
3 3x25_ 75

2 4x25 100 070

(c) Here, sincethetenth and the hundredth placeis zero.

7
Therefore, we write 1000 0.007

Example 8 : Write asfractionsin lowest terms.
(8 0.04 (b)2.34 (c) 0.342
4 1

Solution : (a) 0.04 = 100 = 25

(b) 2.34 = 24 34 _, 342, 17,17
100 100+2 50 50

342 342+2 171

() 0:342= 7000 = 10002 500
Example 9 : Write each of thefollowing asadecimal.
@ 200+30+5+— ﬁ (b) 50 + 100
3 5
(©) 16+ 15* 1000

2 9 1 1
ion : b =23542X—+9X— =
Solution : (8) 200+ 30 + 5+ <+ — +2X - H9X - = 235,29

6 1 1
(b)50+— — =50+1x — +6%x — =50.16

R n e nnnmnny

100 10 100
3.5 3 0 5
+ = et
(© 16+ 10" 1000 =26+ 10700 1000

1 1 1
16+3XE+0 ﬁ+5 m—16305

Example 10 : Write each of the following as a decimal.
(a) Three hundred six and seven-hundredths
(b) Eleven point two threefive
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(c) Nineand twenty five thousandths
Solution : (a) Three hundred six and seven-hundredths

7 1 1
—306+ﬁ —306+O><E +7 % ﬁ_306'07

(b) Eleven point two threefive=11.235

25
(c) Nineand twenty fivethousandths=9+ ——

1000
0 2 5
=9+ —F+—=F+—7-=0,
9 10 100 1000 9.025

25 20 5 _2 5
1000 1000 1000 ~ 100 ' 1000

Since, 25 thousandths =

EXERCISE 8.2

1. Completethetablewiththehelp of these boxesand use decima sto writethe number.
@ (b)

©

Ones Tenths|Hundredths Number

(@
(b)
(©)

2. Writethenumbersgiveninthefollowing placevauetableindecimal form.

Hundreds | Tens Ones | Tenths | Hundredths | Thousandths
1 1 1
100 10 1 i (ﬁ) T

@ 0 0 3 2 5 0

(b) 1 0 2 6 3 0

(© 0 3 0 0 2 5

(d) 2 1 1 9 0 2

G) 0 1 2 2 4 1 173
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3. Writethefollowing decimalsintheplaceva uetable.
(@ 029 (b) 208 (c) 19.60 (d) 148.32 () 200.812
4. Writeeach of thefollowing asdecimals.

4 6 4
20+9+—+ 137+ — —t—t—
@ 10 " 100 ® 100 (C) 100 T 1000

2 6 9
23+—+— 700+20+5+—
C) 1000 © 100

5. Writeeach of thefollowing decimalsinwords.
(@ 0.03 (b) 1.20 (c) 108.56 (d) 10.07 (e) 0.032 (f) 5.008

6. Betweenwhichtwo numbersintenthsplace onthe number linedoeseach of thegiven
number lie?

(@ 006 (b) 045 (c) 019 (d) 066 (6 092 () 0.57
7. Writeasfractionsinlowest terms.

(@0.60 (b) 005 (c)0.75 (d)0.18 (¢ 025 (f) 0.125

(9 0.066

8.4 Comparing Decimals

Canyoutell whichisgreater, 0.07 or 0.1?
Take two pieces of square papers of the same size. Divide them into 100
equal parts. For 0.07 we haveto shade 7 parts out of 100.

1 _ 10
Now, 0.1 = 0~ 100" for 0.1, shade 10 parts out 100.

- 0.1 = —
0.07= 100 10 100

Thismeans0.1>0.07

Let us now compare the numbers 32.55 and 32.5. In this case , we first
compare the whole part. We see that the whole part for both the nunbersis 32
and, hence, equal.

We, however, know that the two numbersare not equal. So, we now compare
thetenth part. Wefind that for 32.55 and 32.5, thetenth part isalso equal, then
we compare the hundredth part.
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Wefind,

5 5 5 0
32.55=32+ 0 + 100 and 32.5=32+ 0 + 100" therefore, 32.55>32.5 as

the hundredth part of 32.55 ismore.
Example 11 : Which isgreater?
(@ 1or0.99 (b) 1.09 or 1.093

0 0 9 9
ion: (@ l=1+—+—; 099=0+—+—
Solution - (a) 10 100" 10 100
The whole part of 1 is greater than that of 0.99.
Therefore, 1 > 0.99

) 1.00=1+ 24 2 4 O yp03=14 04 0 3
10 100 1000 10 100 1000

In this case, the two numbers have same parts upto hundredth.
But the thousandths part of 1.093 is greater than that of 1.09.
Therefore, 1.093 > 1.09.

EXERCISE 8.3

1. Whichisgresater?
(@ 0.30r04 (b) 0.07 or 0.02 (c0 30r0.8 (d 0.50r0.05
(e 1.230r12 (f) 0090r019 (g9 2150r150 (h) 21.431o0r1.490
() 3.30r3.300 (j) 5.64o0r5.603

2. Makefivemoreexamplesand find thegreater number from them.

Try TheseQ 8.5 Using Decimals
(i) Write2rupees5paise
and 2rupees50paise ~ 8.5.1Money
indecimals? We know that 100 paise= Re 1
() Write 20 rupees 1
7paiseand21rupees ~ Therefore, lpaise =Re 100 = Re0.01
75 paisein decimal s?

65
S0, 65 paise = Re 100 = Re 0.65

5
and5paise =Re — =Re0.05

100
What is 105 paise?ItisReland 5 paise= Rs 1.05
175
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8.5.2 Length

M ahesh wanted to measurethe length of his

table top in metres. He had a 50 cm scale.

Hefound that thelength of thetabletop was

156 cm. What will beitslength in metres?
Mahesh knew that

1
1cm —m m or 0.01m

56
Therefore, 56 cm = 100 m=0.56m

Thus, thelength of thetabletopis Tl’y
156 cm = 100 cm + 56 cm 1
=1lm+ 100 m=156m. -
Mahesh also wants to represent
this length pictorially. He took
squared papers of equal size and
divided them into 100 equal parts.
He considered each small square as
one cm.

3.

These O

Canyouwrite4mmin‘cm’ using
decimals?

. Howwill youwrite7cm5Smmin‘cm’

usingdecimas?

Can you now write 52 m as ‘km’
using decimals? How will you
write340mas‘km' usngdecimals?
How will youwrite2008 min‘km’?

100 cm

8.5.3 Weight

56 cm

Nandu bought 500g potatoes, 250g capsicum, ‘
700g onions, 500g tomatoes, 100g ginger and TI’)’ These Q) |
300g radish. What is the total weight of the 1. Can you now write

vegetablesin thebag? L et usadd theweight of all

thevegetablesin the bag.

4569 as ‘kg’ using
decimals?
2. How will you write

500g+250g+700g+500g+100g+300g 2kg9gin‘kg using

=2350¢

decimals?
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Weknow that 1000 g =1kg

1
Therefore, 1g = ng =0.001 kg

Thus, 2350g =2000g+ 3509
2000 350
= kg +
1000 1000
=2kg+ 0.350 kg =2.350 kg
I.e.2350g =2kg350g=2.350kg

kg

Thus, theweight of vegetablesin Nandu’'sbag is2.350 kg.

EXERCISE 84

1. Expressasrupeesusingdecimals.
(@ S5pase (b) 75paise  (c) 20paise
(d) 50 rupees90 paise (e) 725paise
2. Expressasmetresusing decimals.
(@ 15cm (b) 6cm (©) 2m45cm
(d) 9m7cm (e) 419cm
3. Expressascmusingdecimals.
(@ 5mm (b) 60mm () 164mm
(d) 9cm8mm  (¢) 93mm
4. Expressaskmusingdecimals.
(@ 8m (b) 88m (c) 8888 m
(d) 70km5m
5. Expressaskgusingdecimals.
@ 29 (b) 100g (c) 37509
(d) 5kg8g (e) 26kg504g

8.6 Addition of Numbers with Decimals

Do This

Add0.35and 0.42.
Takeasquareand divideit into 100 equal parts. 177
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Mark 0.35in this square by shading
3tenthsand colouring 5 hundredths.
Mark 0.42inthissquare by shading
4 tenthsand colouring 2 hundredths.

Now count the total number of tenthsin the square and I
thetotal number of hundredthsin the square.

Thus, wecan add decimalsinthesame g5

Ones Tenths Hundredths
0 3 5
+ 0 4 2
0 7 7
Therefore, 0.35 + 0.42=0.77 y These

way aswholenumbers. (i) 0.29+0.36 (i) 0.7+0.08
Canyou now add 0.68 and 0.547? (iii) 1.54 + 1.80 (iv) 2.66+ 1.85
Ones Tenths Hundredths
0 6 8
+ 0 5 4
2 2

Thus, 0.68+ 0.54=1.22

Example 12 : Lataspent Rs9.50 for buying apen and Rs 2.50 for one pencil.
How much money did she spend?
Solution : Money spent for pen = Rs9.50
Money spent for pencil = Rs2.50
Total money spent = Rs9.50 + Rs2.50
Total money spent = Rs 12.00

Example 13 : Samsontravelled 5 km 52 m by bus, 2 km 265 m by car and the
rest 1km 30 m hewalked. How much distancedid hetravel inall?

Solution : Distancetravelledby bus= 5km52m = 5.052 km
Distancetravelledbycar = 2km265m = 2.265km
Distancetravelledonfoot = 1km30m = 1.030 km
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Therefore, total distancetravelledis
5.052 km
2.265 km
+ 1.030km
8.347 km

Therefore, total distancetravelled = 8.347 km

Example 14 : Rahul bought 4 kg 90 g of apples, 2 kg 60 g of grapes and
5 kg 300 g of mangoes. Find the total weight of all the fruits he bought.
Solution : Weight of apples = 4kg90g = 4.090kg
Weightof grapes = 2kg60g = 2.060kg
Weight of mangoes = 5kg 3009 5.300 kg
Therefore, the total weight of the fruitsbought is
4.090 kg
2.060 kg
+ 5.300kg
11.450 kg

Total weight of thefruitsbought = 11.450 kg.

EXERCISE 8.5

1. Findthesumineachof thefollowing:
(@ 0.007 + 8.5+ 30.08
(b) 15+ 0.632 + 13.8
(c) 27.076 + 0.55 + 0.004
(d) 25.65 +9.005 + 3.7
(e) 0.75+ 10425+ 2
(f) 280.69 + 25.2 + 38

2. Rashid spent Rs35.75 for Mathsbook and Rs32.60 for Sciencebook. Find thetotal
amount spent by Rashid.

3. Radhika smother gave her Rs10.50 and her father gave her Rs15.80, find thetotal
amount given to Radhikaby the parents.

4. Nasreenbought 3m 20 cmclothfor her shirt and2m5cmclothfor her trouser. Find
thetotal length of cloth bought by her.

5. Nareshwalked 2km 35 minthemorningand 1 km 7 mintheevening. How much 179
distancedidhewakinall?
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6. Sunitatravelled 15km 268 m by bus, 7 km 7 m by car and 500 m onfoot in order to
reach her school. How far isher school from her residence?

7. Ravi purchased 5 kg 400 grice, 2 kg 20 g sugar and 10 kg 850g flour. Find thetotal
weight of hispurchases.

8.7 Subtraction of Decimals

Do This ~+
Subtract 1.32 from 2.58
Thiscan be shown by thetable.
Ones Tenths Hundredths
2 5 8
- 3 2
2 6

Thus, 2.58-1.32=1.26

Therefore, we can say that, subtraction of decimals can be done by
subtracting hundredths from hundredths, tenths from tenths, ones from ones
and so on, just aswe did in addition.

Sometimeswhile subtracting decimal's, we may need to regroup likewedid
inaddition.

Let ussubtract 1.74 from 3.5.
Ones Tenths Hundredths
3 5 0
— 1 7 4
1 7 6
Subtract inthe hundredth place. Tl’y These ()
Can't subtract! 1. Subtract 1.85from5.46;
Solze%olJp 2. Subtract 5.25 from 8.28 ;
23, B0 3. Subtract 0.95 from 2.29:
4. Subtract 2.25 from 5.68.
- 1. 74
1 . 76

Thus,3.5-1.74=1.76



Example 15 : Abhishek had Rs 7.45. He bought toffees for Rs 5.30. Find the
balance amount | eft with Abhishek.
Solution : Total amount of money = Rs7.45

Amount spent ontoffees = Rs5.30

Balanceamount of money = Rs7.45-Rs5.30=Rs2.15
Example 16 : Urmila s school isat adistance of 5 km 350 m from her house.

Shetravels1 km 70 monfoot and therest by bus. How much distance does she
travel by bus?

Solution : Total distance of school from the house = 5.350 km
Distance travelled on foot = 1.070 km
Therefore, distance travelled by bus = 5.350 km —1.070 km
= 4.280 km
Thus, distance travelled by bus = 4.280kmor4km280m

Example 17 : Kanchan bought a watermelon weighing 5 kg 200 g. Out of
thisshegave 2 kg 750 g to her neighbour. What isthe weight of the watermelon
left with Ruby?

Solution : Total weight of thewatermelon = 5.200 kg
Watermelon given to the neighbour = 2.750 kg
Therefore, weight of the remaining watermelon
= 5.200kg—2.750kg =2.450kg

EXERCISE 8.6

1. Subtract:
(@ Rs18.25fromRs20.75
(b) 202.54mfrom250m
(c) Rs5.36fromRs8.40
(d) 2.051 kmfrom5.206 km
(e) 0.314kgfrom2.107 kg
2. Findthevaueof :
(@ 9.756 - 6.28
(b) 21.05-15.27
(c) 185-6.79
(d) 11.6—9.847

DEcCIMALS
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. Tinahad 20m 5 cmlong cloth. Shecuts4 m 50 cm length

. Namitatravels20km 50 m every day. Out of thisshetravels

. Oneblock divided into 100 equal partsmeanseach partis (

. Raju bought abook for Rs 35.65. He gave Rs 50 to the shopkeeper. How much

money did he get back from the shopkeeper?

. Rani had Rs 18.50. She bought oneice-creamfor Rs 11.75. How much money does

shehavenow?
of clothfromthisfor making acurtain. How much clothis

left with her?

10 km 200 m by bus and the rest by auto. How much
distance does shetravel by auto?

_:3:?\\

"m;%\

. Aakash bought vegetablesweighing 10 kg. Out of this, 3kg 500 gisonions, 2 kg 759

Istomatoes and therest is potatoes. What istheweight of the potatoes?

What have we discussed?

. Tounderstand the partsof onewhole (i.e. aunit) we represent aunit by ablock. One

1
block divided into 10 equal partsmeanseach part |s (onetenth) of aunit. It can

bewritten as 0.1 in decimal notation. The dot repreﬁents the decimal point and it
comes between the units place and the tenths place.

. Every fraction with denominator 10 can bewritten in decimal notation and vice-versa.

100) (one-hundredth) of

aunit. It can bewritten as0.01 in decimal notation.

. Every fraction with denominator 100 can be written in decimal notation and

vice-versa

. Intheplacevauetable, aswego fromIeft to theright, the multiplying factor becomes

10 — of thepreviousfactor.



1
Theplaceva uetablecan befurther extended from hundredthsto m of hundredths
L
1000
. All decimascan aso berepresented on anumber line.
. Every decimal can bewritten asafraction.

. Any two decima numberscan be compared among themsel ves. The comparison can
start with the whole part. If the whole parts are equal then the tenth parts can be
compared and so on.

. Decimalsareused in many waysin our lives. For example, in representing units of
money, length and weight.

I.e. thousandths( ), whichiswritten as0.001 in decimal notation.

DEcCIMALS




